Lesson 3
Snow Load Example

What is required by Code?
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0.7 x pg (ground snow load) =
pf (roof snow load)

ABOVE LINE 60 PSF
60 ground snow PSF

BELOW LINE 50 PSF
50 ground snhow PSF
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Roof Snow Load Examples
Above line:

0.7 x 60 psf = 42 psf

l Below line:
sl 35 PSF = 0.7 x 50 psf = 35 psf
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https://www.dli.mn.gov/sites/default/files/pdf/bc_map_snowload.pdf

ROOF LOAD ZOWE MAP®
Yorth 40 P5Y (Saow)
Middle 30 267 (Bnow)

Bouth 20 PSY (Minimum)
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https://www.ecfr.gov/current/title-24/subtitle-B/chapter-XX/part-3280p-3280.305(c)(4)
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/0 x 0.7 =50 PSF
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